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[MBBS 0324]                                 MARCH 2024                       Sub. Code :6086 

M.B.B.S. DEGREE EXAMINATION 
(For the candidates admitted from the Academic Year 2019-2020) 

 

THIRD PROFESSIONAL PART II - CBME 
PAPER II – OBSTETRICS & GYNAECOLOGY 

 
Q.P. Code: 526086 

Time: 30 Minutes                                                  Maximum : 20 Marks 
Answer All Questions 

 
Choose one correct answer in the box provided in the Answer Script.                      
No overwriting should be done.  Choice should be given in Capital Letters. 
 
III. Multiple Choice Questions:                                           (20 x 1 = 20) 
 

1. Day of ovulation is 
A) 14 days before next menstruation       B) 14 days after menstruation 
C)  10 days after menstruation                 D) 18 days after menstruation 

                                                 
2. All of the following can occur due to DES exposure inutero in female baby except 

A) T shaped uterus                                 B) Clear cell carcinoma 
C) Vaginal adenosis                               D) Renal anomalies    

                                                             
3. Signet ring cells in a cellular stroma is diagnostic of 

A) Gonadoblastoma                              B) Hilus cell tumour 
C) Krukenberg tumour                         D) Struma ovarii    

                                                                    
4. A women with which of the following health problem must avoid centchroman 

A) PCOS              B) Endometrial hyperplasia        C) DUB          D) Endometriosis                                 
 

5. Prostate gland is homologous to 
A)  Bartholins gland      B) Cowper’s gland      C) Skene glands       D) Bulbourethral gland      

                                                    
6. Tubal causes of infertility is diagnosed by all except 

A) HSG                   B) SSG              C) Lap chromopertubation    D) Post coital test            
                                      

7. Surrogacy is indicated in all except 
A) Premature ovarian failure                     B)  Absent uterus 
C) Hereditary diseases                               D)  Elderly mother        

                                       
8. HPV – which serotype is responsible for cancer cervix 

 A) 6                             B) 11                             C) 16                             D) 32                                        
 

9. All are true regarding endometriosis except 
A) Harmone dependent                              B)  Contains clear fluid 
C) Involve lung and pleura                        D)  Ovary is the most common site                         

 
10. Halban’s sign is seen in 

A) Endometriosis        B) Fibroid uterus      C) Adenomyosis     D) Ca cervix                                        
…  2  … 
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11. Diagnostic of menopause  

A) Serum FSH less than 40                             B) Serum FSH more than 40 
C) Serum LH more than 20                             D) Serum Estradiol less than 30                              

 
12. Most common cause of hirsutism in a young female 

A) Ovarian tumour                                        B) Adrenal tumour 
C) Congenital adrenal hyperplasia               D) PCOS                                                                             

 
13. Difficulties in Minimally Invasive Surgery are all except  

A)  Indirect palpation of tissues                    B) Restricted movement of tools 
C)  Presence of three dimensional vision      D) Counter- intuitive motion                                
 

14. Vertical fusion defect can result in 
A) Septate uterus                                    B) Transverse vaginal septum 
C) Uterine didelphus                              D) Bicornuate uterus                                          

 
15. Ulceration of the vulva is seen in all except 

A) Bacterial vaginosis           B) Syphilis            C) Chancroid       D) Behcet’s disease                         
 

16. Not a barrier contraceptive 
A) Diaphragm                  B) centchroman           C) Condom       D) Today                                           

 
17. Ureter is identified intraoperatively by 

A) Rich arterial plexus                                 B) Relation to lumbar plexus 
C) Peristaltic movement                              D) Close to renal vein                                        

 
18. Cause of decubitus ulcer in prolapse 

A) Friction              B) Venous congestion         C) Intercourse               D) Trauma                              
 

19. Emergency contraception prevents pregnancy by all except 
A) Delaying ovulation                                      B) Inhibiting fertilisation 
C) Preventing implantation                              D) Interupting early pregnancy                  

 
20. Most common gene mutation in fibroid 

A) MED-12                      B) COL 4 A5-A6             C) FH                 D) None of the above                  
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